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DIPLOMA IN WATERSHED MANAGEMENT 
(DWM) 

Term-End Examination 

June, 2016 

BNRI-102 : ELEMENTS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. Use of calculator is permitted. 

1. 	Distinguish between the following : 

(a) Infiltration and Percolation 

(b) Effluent stream and Influent stream 

(c) Evaporation and Evapotranspiration 
(d) Point rainfall and Mean rainfall 

4x2.5=10 

2. 	Explain in detail, any two of the following : 5+5=10 
(a) Curve Number method for estimation of 

direct runoff. 

(b) Current meter for measurement of 
discharge. 

(c) Hydrologic cycle. 

3. Explain the different methods of estimating the 10 
average depth of rainfall over a watershed. 

4. What is Rational method of runoff estimation ? 
Explain various symbols used. How each 
component of formula is measured/estimated ? 

3+2+5=10 
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5. (a) Six irrigation of 6 cm each were applied to 	5 
wheat crop which yielded 6 tons per ha. 
The consumptive use during the growth 
period was 30 cm. Determine the (i) Field 
water use efficiency and (ii) Crop water use 
efficiency. 

(b) Explain float method for measurement of 	5 
runoff. 

6. What is Runoff ? Discuss different factors 
affecting runoff. 	 2+8=10 

7. (a) Define pipe flow, explain how head loss in 
pipe flow can be estimated. 	 1+4=5 

(b) What is return period ? 	Discuss 
intensity-duration-frequency relationship of 
rainfall. 	 1+4=5 

8. (a) Define potential evapotranspiration and 
actual evapotranspiration. Discuss various 
factors that effect transpiration. 	2+2+4=8 

(b) Define seepage losses. 	 2 
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1. 	atT 1:ERZ 	: 
(a) 31-4097 	3147Ti 
(b) qizacimi NITT 3 	We tIRT 

(c) WErri 311{ 3W4-q1 
(d) Psis W:it7r 3f 34-{:ru aC 

4x2.5=10 

2. 	1-1 1—liclitsiti A.  rctpif 	d'eRcii( auk 	: 5+5=10 
(a) 7FRT 	 * 	Tfurr fqfq 

(b) .it-Htuf (Bari) TIM* re.R 
(c) 	w 

3. Aci*.iw aciNF atm 	 aTrw-di fafiTR 10 
fetTql .wr auk W--4 

4. 	altiqg 	 aTrTrrra raiN ii t? 514ff 
a 	qv Ati3f-4-4 	auk -1-1--ARI a  31c w 

blech WITRT9/3WMi 1.)4 rcheir 	1Idf t? 	3+2+5=10 
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5. (a) i)i. 	4.*Ic ►  ch) 6 tf.t. t 6 ii-i -c► Wit t'1 * 	5 

. --q-*".1 6 ZT q 	rki t-- rT1-{ 34 ∎4 TURF -# I Lmio 
ciqc41( 31-41v *  1( ►►  z1(1 kizTVI ZEPtIT 

30 -AA. P-TT t (i) tU V-  AO 31:14:4TT .1-d1 -ffzIT 

(ii) LI*K-I .A.  \7►0 31:1t7Tk.idT Oct WINR I 

(b) 3l-gag* 37*--1. 	tka rciitT*r a ul-i *11-A-R 1 	5 

6. 317-4ff TR t? 3TtEdit 	1;131Trqff cm ..) 1i11R 
*R-4 4ctui 4-f--4R 1 	 2+8=10 

41*4 AI  AO -5W liftiTtErff ch( 7, -d-qR fw 
t4 514T (pipe flow) -14 	iltiwr--4zW --T 3T1Wai 

4*T4ti 	 1+4=5 

arcRil ara-RNIw t-  ? a 41- i 1-1 (1-3i4R4 3R-4-4--dr 
#4t.T -4 -1 ,41 -4. 71 	 1+4=5 

TilTrar a luirr zAqi 3 .11(4:1(4) alt ,41--z--  
4 -ErftiTrrtira X11 z---ozlq-9.  4 3f41rfa-u a)(4 
a 	ic4 feali *RA 4 Illi W-A-R I 	2+2+4=8 

ft-ma v-17114 -crftii-ri-EmW---4R I 	 2 
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